H BT TR IMT AT Y

9-4-1 IR OfRE (1)

Bl RO RGN ZMHE RS0,

O x?=16 @ x*2=7 ® x?=12 @ x2=§

® 2x2=72 ® x2-8=0 @ 4x?-48=0 10x* -16=0
1] ko AR EfmE 2 S,

D x*=49 @ x?=6 ® x*=20 @ x2=%

® 4x* =16 ® x?-5=0 @ 2x*-18=0 3x*-4=0
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H BT IMFT A

B2] ko R ERREME &,
D x*>-5x=0 @ x*+6x=0

® 3x?>+21x=0

@ 4x2-5x=0

2] ko AR ERE R S,
O x*-8x=0 @ x?+9x=0

@ 4x®+16x=0

@ 6x>+20x=0

2/4




H BT IMFT A
Tﬁ% e

1] woO—wBEAEME 2SN,

O x*=81 @ x%*=13 ® x?=50 @ x2=%

® 4x?=9 ® x?-24=0 @ 3x*-48=0 8x*-20=0
2] woZkIBEREMRE RS,

O x*+8x=0 @ x*-12x=0 @ 7x2+42x=0 @ 5x*+12x=0
® x*-3x=0 ® x*+x=0 @ 2x?+50x=0 6x? +81x =0
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DO x=49 @ x=+/13 ® x=15\2 @ x:ig
® x:ig ® x=+2J6 @ x=+4 x:i@
12
D x=0, =8 @ x=0,12 © x=0, =6 @ x=0, —
27
® x=0, 3 ® x=0, -1 @ x=0, 25 Xx=0, Y
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